W

to D, making OD=0B. On BD describe a semi-
circle cutting circumference of larger circle in E.
Join EB and produce it, letting it cut smaller circle
in F and larger in G. Tnen will EG be the required
chord. From A letfall a perpendicular AH on chord
EG. Then triangles CEB and BHA are equal, there-
fore EB=BH. But HB=HF, and HE=HG (1IL 3),
therefore BF=half of EG. '

5. Let ABOC be the equilateral triangle aud P the
given point. Let PD, PE and PF be the perpendi-
culars to BU, AC and AB respectively, and AM the
perpendicular from point A. Through P draw GH
parallel to BC and cutting AM in N, Then AGH is
an equilateral trisngle. NM is equal to PD. From
G draw GL perpendicular to AC. Produce EP to K,
and from G let fall GK perpendicular to EK. Then
trisngles FGP snd GKP are equal, therefore PF=
PK. Therefore PF and PE= KE= GL=AN.
Therefore sum of PD, PE and PF = AM.

6. A prin. Tell her.

la' That wastes her time, adj. clause qual. her.
2a! That now she knows, noun clause direct obj.
of Zell.

1a®* When I resemble her to thee, adv. cl. fime,

modifies knows.

2a®* How sweet and fair she seems to be, noun cl.

obj. of knows.

(8) It is sweet to visit the silent wood.

“ To visit the silent wood ” is appositional enlarge-
ment of subject ‘“it.” See prescribed text-book of

- English grammar, subject page 79 5.
¢ Teacher.” See answer to Paul Ford, No. 1.

R. B. O'B.—Please solve example 23, page 181, and
examples 16 and 17, page 188, Todhunter’l'llgebn.

1. Let z denote the number of men in one mde of
solid square.

Then 4z equals the number of men in one side of

hollow square.
If the hollow square were solid, the number of

men in it would be (4x)*; therefore the whole number |

in the hollow square is (4x)® —(4x— 8)%.
Thus (4z)* — (42—8)*=Tz*, .

2. Pat the equation in the form ——= b
@ VY The umn,g(_w___ezse_tﬂ-.?__i

z+a b+y

Therefore either &—y=0, or Taking

the former, we have y =4, and then from the |

first equaticn @=a. Taking the latter, we have
y==x-a—b; substitute in the first equation, ete.

8. From first equation ya-zb-—? Substitute in
second equation, ete.
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